Name:

MathWorksheets.com
Week of August 5

9 8 9 8 3
81
99| 948|959 |9x |9x8|9x |9x3
54 18
X9 X8 X9 X X8 X X3
48 | sS4
6 x9 | 6x8 | 6x9 |6 | 6486y | 643
45 45
X9 X8 X9 X X8 X X3
36 36
X9 X8 X9 X X8 X X3
4 | 27
X9 X8 X9 X X8 X X3
54
6 x9 | 6x8 | 6x9 |6 | 6486y |643
/2
8 x9 | 8x8|8x9|8x_ | 8x8]|8x_|8x3

Ifd=12then20-0= _______

How many days are in

August?
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Name:
ACROSS DOWN
1. the tens in H-Down + the ones in 17-Down + the 3. Four tens more than H-Down
thousands in 8-Down + the hundreds in fi-Across U, 8-Down plus 3-Across
2. The hundreds in 8-Down 5. Seven less than 14-Down
3. Two more than 8-Down 7. Seven hundreds more than 1-Across
6. The ones in 8-Down 8. eight thousand eight hundred sixty
9

. Four tens more than 5-Down

1. the ones in 17-Down + the tens in 4-Down + the
hundreds in 8-Down

13. Four tens more than 3-Down

15. the tens in 3-Down + the hundreds in 7-Down +

the thousands in 8-Down

17.

. The ones in 1-Across
. the tens in 4-Down + the ones in 5-Down + the

thousands in 8-Down + the hundreds in 3-Across

. Six tens more than 5-Down
. Nickels in two dollars
. Two more than 17-Down

6+6=2x_

Write the length in inches.

N O
- W

What is the ratio of boys to
girls in your class?

LT
oy 2 3 4 5 6
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Week of August 5
Name:
Get a fidget spinner! Spin it. I needed to spin time(s) to finish.
Not Exact Estimate - With a Good Guess
a N ( N )
y <10 = _4 59+ = _5 Ug+7 ~ ___
Z \ J \
N ( N
3N+4 = ___ 79+9 =~ __ Ug +5 =~ ___
J U J \\ J
N ( N
9+6 = ___ w=+12 ~=___ 72+~ ____
Z \ J \
N ( N
85+12 ~ M7 = 26+3 =
\_ J U J \\ J
N ( N
38+10 ~ 26+5 = M8 =
Z \ J \
N ( N
294 = H+3 =~ W+6 ~
\_ J U J \\ J
N ( N
50+9 ~ __ 75+9 =~ 3310 ~ __
Z \ J \
N ( N
89+9 ~ H4 =12 =~ 2+3 =
\_ J U J \\ J
N ( N
7+3 ~___ Q711 ~ __ 69 +11 ~
Z \ J \
N ( N
23+5 = 29+5 = i +6 =~
\_ J \\ J \\ J
N ( N
32+10 = Us+7 = 55+6 =
Z \ J \
N ( N
57+12 =~ _ N+8 = __ 53+8 = __
\_ J \\ J \\ J
N ( N
30+7 = 2A+4 = Ho+6 =
Z \\ J \
N N
Q=1 =~ __ n+3 = __ 76+8 = __
\_ J \\ J \\ J
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Week of August 5

The thrift shop manager

said that only 7_ of the

100
people that come into the
shop don't buy anything.
Write that fraction as a

decimal.

Hunter found 32 acorns.
He kept 20 to put on
wreaths. He divided the
rest equally among 4
friends. How many
acorns did each friend
get?

April is learning to be a
juggler. She bought 5
jugdling balls for $1.36
each, 2 scarves for $2.24
each, and a top hat for
$8.89. How much money
did she spend in all?

Round to the nearest ten.

82.111is rounded to

Q89,594

Round the number to the
place value of the BIG number.

49,331 is rounded to

7131 is rounded to

What are 43 hundreds equal
to?

Cdlculate the sum of 4, 12,
and 8.

JE

Do you use AM. or PM. to
write the time you eat dinner?

September.

Write a word to describe

NN F
01 01 00

word root ad can mean to

adhesive, addition
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Name:

This is the look at one cube

that is turned around a few times.

5 5 2

2 3

This pattern can be folded into

the cube. Fill in the missing boxes.

513
T

Write the shaded part as a decimal.

The month before me has
thirty-one days. The month
after me has thirty-one days.
What month am I?

September
March
December
July

How many seconds are in
five minutes?

Share 18 equally among 2.

F O
= =

MathWorksheets.com
Week of August 5

Write a fraction to represent what is shaded.

What polygon has ten sides?

current time (pm)

How long until the party?

time party starts (pm)

thirty-nine inches?

Which is longer: three feet or

30 days?

What is the first month with
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Color 2 )

10

If you add 8 to me, the sumis
/9. What number am I?

Is 33 prime or composite?

What number is ten thousand

more than 4,0327?

Which is smaller, % or % ? Fill in the boxes so each line equals 1.
1
+| 2
Which of the following is a
complete sentence?
7 | -
@ Jeff ran to the store
X
fled the classroom after failing
the test
( -5 )+
@ wondered about the results
@ Denny creatively + X

Make a pattern.
Start with 52.
Add 5.

What is the mode of these
numbers?

16, 28, 18, 16, 26, 18, 24, 27, 27,16

/,-\"' Write this number using words.
21

| |

/

{

w =
>
o1 F

Circle the correctly spelled word.
voyage, woar, shalow
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Name:

1

— N ™M O o™ N~ (0 0]
— oV Q)

+ + |
O I ™ML -4 O O ~— 4 N 0 O O O
o O @Noy oo 0 O o N @) O L 0 O
M~ w0 O N O O~ o0 N AN O I~ = e}
o L — N 0O O AN AN O N O

+ + — — + + +
(@) 04 O N T o O N O O LN O ~—
a0 ™M N = 0 O 4 N o o0 AN I~ 0 I~
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+ | + + + ! +
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0 0) O O O o0 O L — O O N O
O — o O O 0 O o~ N O I~ — I~
o O ~NO — I — I~ o~ ™M O wLw
L = O M ~N O — O ML ™ML N~ LW
o™ (@) AN AN L ~— O~ (N LN ~— AN O

1
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Name:
8o=oOo1oOo+o|—|-o=o+o|-|08

Use the pieces above to help you fill in the runaway math puzzle.

+

N

SIEEN
W
U1

w
+
~
1
R
o

AN
+

What is the value It is 4O degrees Fahrenheit O toh
of the BIG digit? outside. What would you
wear if you are going O toone
6.854,022 outside?
O toohn
O tone
Cadlculate the product of 8 Fill in the missing fraction.
and 11.
1 2 =
) S 'T—/——' 5
Circle the three interjections. Insert a comma in the appropriate
place in this sentence.
whoops cruise sail I think that English is my favorite
flow shoo ugh class but it might be math.
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Name:

Get a fidget spinner! Spin it. I needed to spin
N

time(s) to finish.

" What number is halfway " Eric earns $20 an hour. He | [ What is the sum of 50 and |
between 0 and 10? worked 5 hours. How 6557
much did he make?

\. J \\ J \

VWX N\ N ¢ N
Which number has exactly How many total legs are on Is 388 closer to 300 or
9 millions? 3 elephants and 2 ants? HOO?

\. J \ J \ J

" Draw a small clock that " Jenna bought a stuffed " How many total legs are on |
shows 5 minutes past 7:00. animal af the school store. 13 tigers?
She paid with a $20 bill
She was given back 6
dimes and 2 quarters for
change. How much was
the stuffed animal?

. Z \\ Z \\ »

" This number is one ten ) [ double 23 =
6+3= more than 3,217.
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Name:
NM6x3=18 3 17 56 7 4 485522 21 2 36 6 56 3 20 12 LK
[(15x1 = 19 7375 1151 312 311112 16
U 2 1821910363 7 108 2361 7 3
[19x2-=
9 39 2 115 3110 7 92 23 8 215
[13x12= 4 9 2291 12222016 2 12 13 18 3t 4 18

(156 = 212187515 3172752 34228 |wie
U127 795 4 1t 7 6 8 & 3 U4 |operation.

3
7 7
L4 x12 = 6 136 2 82055 9 9 9 30 1 |Write =sign.
[l6x6= 5 6311 YU 2 U 81872217 2 |Cicle
8
3
2

[(l11x2 = i1 171017 2 826 9 937101319 1R

B 6 36 6133 6 6364252 1 13 18
[18x9 = 2 61930337 2727237 617 206 6 7
[12xU= 935 7 26 11 11 22563015 9 30
(1347 = 2907 1120618227196 #1724

N2x1=132 (5353 1 333037 0k 7827

[12x8= 77 6W19 81327 312 812 26 12 3
(121 = 524119235 2 1 21205 7 2 1 5 4 2
0746 - 5 8 18 1 8 7 108214 8 1 l 7 4 7

31 8 3242 8104281216 12513
[18x1l= 6 3387 8563021 1511321
[18x3= 1133519 6 16 6B16 1 6 19336 151623
(i x 3 = 36131 12309 2 UHWNR S8BT
e 2 21930224 123110 330812 6 30

31116811'431 3125 3202
[112x10 = BBUTT 1 8 M 339307 190”2
[15x6= 31 6125295 M 2 7 213310 12 10120

[]10x3 = 22420119 9 4 5 212029 19 11 10 12 29
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Week of August 5
Name:
Make change. You can use $20, $10, $5, $1, 25¢, 10¢, 5¢, or 1¢.
7 N
Use the fewest bills and coins to make $13.44.
$1
\ _J
Use the fewest bills and coins to make $56.22.
\ _J
e N
Use the fewest bills and coins to make $14.46.
\ _J
4 N
Use the fewest bills and coins to make $33.26.
\ _J
Write the number for
seventy-one thousand o) 3 Q Q6
nine hundred sixty. X 8 x 8 x 9 +509

(" word root tact can mean touch contact, intact, tactile )
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Name:

Help Robot find Rover. Make a path of increasing
differences. You can only move to a box with a
larger difference. Draw a line to show your path.

o4 | 92 80 | &1 ug | 97 ho | 68
262 | -88 | 12 | -20 | -33| -82 | -26 | -35

70| 20| 73| 70| 71 8 U 22 75 | 95

260 | ~12 | -68 | -29 | =57 | -30 | —11 | -16 ] -91
52 b 1 7 1 51 91 55 | 80| 53| 57

238 | -40 | -48 | -27 | 63 | -18 | -35 | -34 | -ue
88 62 | 99| 30| 6| 87 97 79 | 57

64 | ~42 | ~21 ] -20 | -36 | -56 | -4 | —uy | -2
9y 82 | i 83 | 79| =58 56 | 65 | 66

4y | 42 | 34 | —uwo | -3u | -51 | -11 | -381] -26
98 | ui 6 1 97 79 | &1 88 | 61 54

.74 | =37 | -50 | -45 | -28 | -37 | ~u5 | -19 | -13
13| 92 85 | 79| 88| 98| 89| 89| 96

212 | ~61 | —24 | —26 | -34 | -u3 | -32 | -22 | -28

31 97 8 1 69 | 95| 96| us | of
.25 | -ug | -74 | -38 | -6u | -93 | -32 | -85 ﬁ%‘?



https://www.mathworksheets.com

Name:

Each row, column, and box must have the numbers 1
through 6. The first box is done.

1

6

Y

2

MathWorksheets.com
Week of August 5

pictures.

Each row, column, and box must have Y different

O

[/

)
O
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Name:
Write the final part of each math analogy.
7 A
694 : 894 = H4Y :
Explain why you think your answer is correct.
\. J
. A
six + five : 11 = twelve + twelve :
Explain why you think your answer is correct.
\. j
4 A
W : forty-one = 71:
Explain why you think your answer is correct.
\. )
4 A
81 pencils in 9 bags : 9 = M pencilsin7bags :
Explain why you think your answer is correct.
\. )
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Name:

Each row, column, and box must have the numbers 1
through 6.

| horizon e fulfill ¢ middie e exiract e compensate e burrow |

Each row, column, and box must have all the words from the word list. Write in the missing
words.

extract middle
burrow
burrow
compensate
horizon compensate
compensate extract fulfill
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Name:

What's in the Box?

Read the words on the left then match the letters with the correct synonyms in the clues.
Put the clues together and solve the mystery of what is in the box.

A =chamber Clue t: floppy hobo marsh final  wash  easy

B =crafty c u
C =limp

) Clue 2: reveal wire round revedl
D =disclose

E =circular

H =toss
Clue 3:  reveadl round floppy wash rapid room final round reved
I =threaten

M =simple

N =recognize
O =bathe

R =speedy

Clue 4: foxy hobo identify identify wire

S =swamp Clue 5: fing buly reveal round marsh
T =last

U =tramp
Y =cable

What's in the Box?

Write the length in centimeters. Nathan's birthday is in
September. Rosa's birthday is
three months after Nathan's
birthday. What month is

- Rosa's birthday?

cm

1 2 3 4 5 6

The factorsof 5are __ 5 15| 55 +81 =

Locate where to put the number 477,000 If B = 5, then what does B + 2
and label the point D. equal?
-+

472,000 492,000
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SUBSCRIBE TO RECEIVE EVEN MORE

Answer Keys « Effective Activities « Accl:ess
to as many printables as you need!




Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




